

群論の計算 I.

19. 1. 19.

N18

①

$e_x^{(1)}$ ↑ $h_j^{(1)}$

$$e_x(x') h_j(x'') - h_j(x'') e_x(x') = i\hbar [e_x(x'), h_j(x'')]$$

$$[e_x(x'), h_j(x'')] = -4\pi \delta(x-x'') \delta(y-y'') \delta'(z-z'') \quad ; \quad \delta'(z-z'') = \frac{\partial}{\partial z} \delta(z-z'')$$

$$E_x^{(1)} = \bar{E}_x^{(1)} = \frac{1}{N'} \iiint e_x(x) e^{-\frac{1}{2a^2} \{ (x-x')^2 + (y-y')^2 + (z-z')^2 \}} d^3v$$

$$N' = \iiint e^{-\frac{1}{2a^2} \{ (x-x')^2 + (y-y')^2 + (z-z')^2 \}} d^3v$$

$$H_y^{(1)} = \bar{h}_y^{(1)} = \frac{1}{N''} \iiint h_y(x) e^{-\frac{1}{2a^2} \{ (x-x'')^2 + (y-y'')^2 + (z-z'')^2 \}} d^3v$$

$$N'' = \iiint e^{-\frac{1}{2a^2} \{ (x-x'')^2 + (y-y'')^2 + (z-z'')^2 \}} d^3v$$

$$\text{今 } f(\vec{x}-\vec{x}') = e^{-\frac{1}{2a^2} \{ (x-x')^2 + (y-y')^2 + (z-z')^2 \}} \quad \text{ト云々}$$

$$[E_x^{(1)}, H_y^{(1)}] = \left[\frac{1}{N'} \int e_x^{(1)} f(\vec{x}''' - \vec{x}') d^3v''', \frac{1}{N''} \int h_j^{(1)} f(\vec{x}'' - \vec{x}'') d^3v'' \right]$$

$$= \frac{1}{N' N''} \iint f(\vec{x}''' - \vec{x}') f(\vec{x}'' - \vec{x}'') [e_x^{(1)}, h_j^{(1)}] d^3v''' d^3v''$$

C031-030-040

$$= -\frac{4\pi}{N'N''} \iint f(\vec{x}''' - \vec{x}') f(\vec{x}'' - \vec{x}'') \delta(x''' - x'') \delta(y''' - y'') \delta'(z''' - z'') dv''' dv''.$$

(2)

$$= -\frac{4\pi}{N'N''} \int \int e^{-\frac{1}{a^2} \{ (x'' - x')^2 + (y'' - y')^2 + (z'' - z')^2 + (x''' - x'')^2 + (y''' - y'')^2 + (z''' - z'')^2 \}} \delta(x''' - x'') \delta(y''' - y'') \delta'(z''' - z'') \times$$

$$= -\frac{4\pi}{N'N''} \int \int e^{-\frac{1}{a^2} \{ (x'' - x')^2 + (y'' - y')^2 + (z'' - z')^2 + (x''' - x'')^2 + (y''' - y'')^2 + (z''' - z'')^2 \}} \delta'(z''' - z'') \frac{dz'''}{dz''} dx'' dy'' dz''.$$

$$= -\frac{8\pi}{a^2 N'N''} \int \int e^{-\frac{1}{a^2} \{ (x - x')^2 + (y - y')^2 + (z - z')^2 + (x - x'')^2 + (y - y'')^2 + (z - z'')^2 \}} (z - z') dx dy dz.$$

$$= -\frac{8\pi}{a^2 N'N''} \int dx e^{-\frac{1}{a^2} \{ (x - x')^2 + (x - x'')^2 \}} \int dy e^{-\frac{1}{a^2} \{ (y - y')^2 + (y - y'')^2 \}} \int dz e^{-\frac{1}{a^2} \{ (z - z')^2 + (z - z'')^2 \}} (z - z') dz.$$

$$= + \frac{8\pi}{a^2 (a^3 \pi^{\frac{3}{2}})^2} e^{-\frac{(x - x'')^2}{2a^2}} a \sqrt{\frac{\pi}{2}} \cdot e^{-\frac{(y - y'')^2}{2a^2}} a \sqrt{\frac{\pi}{2}} \cdot e^{-\frac{(z - z'')^2}{2a^2}} \cdot \frac{a(z' - z'')}{2} \sqrt{\frac{\pi}{2}}.$$

$$= \frac{1}{a^5} \sqrt{\frac{9}{\pi}} \cdot (z' - z'') e^{-\frac{1}{2a^2} \{ (x - x'')^2 + (y - y'')^2 + (z' - z'')^2 \}}.$$

③

$$\begin{aligned}
 1. \quad N' = N'' &= \iiint e^{-\frac{r^2}{a^2}} r^2 dx \sin\theta d\theta d\varphi = 4\pi \int_0^\infty e^{-\frac{r^2}{a^2}} r^2 dr \\
 &= 4\pi \cdot \frac{1}{(2 \cdot \frac{1}{a^2})} \cdot \frac{1}{2} \sqrt{\frac{\pi}{\frac{1}{a^2}}} = 4\pi \cdot \frac{a^2}{4} \cdot a \sqrt{\pi} = \pi^{\frac{3}{2}} a^3.
 \end{aligned}$$

$$\begin{aligned}
 2. \quad \int_{-\infty}^{\infty} e^{-\frac{1}{a^2} \{ (x-x')^2 + (x-x'')^2 \}} dx & \quad x-x' = X \\
 & \quad x-x'' = x-x'+x'-x'' = X+(x'-x'')
 \end{aligned}$$

$$\begin{aligned}
 &= \int_{-\infty}^{\infty} e^{-\frac{1}{a^2} [X^2 + \{X+(x'-x'')\}^2]} dX \\
 &= e^{-\frac{(x'-x'')^2}{a^2}} \int_{-\infty}^{\infty} e^{-\frac{2}{a^2} X^2 - \frac{2}{a^2} (x'-x'') X} dX \\
 &= e^{-\frac{(x'-x'')^2}{a^2}} \cdot e^{\frac{\frac{2}{a^2} (x'-x'')^2}{4 \cdot \frac{2}{a^2}}} \cdot \sqrt{\frac{\pi}{\frac{2}{a^2}}} \\
 &= a \sqrt{\frac{\pi}{2}} e^{-\frac{(x'-x'')^2}{a^2}} \cdot \frac{(x'-x'')^2}{2a^2} \\
 &= a \sqrt{\frac{\pi}{2}} e^{-\frac{(x'-x'')^2}{2a^2}}
 \end{aligned}$$

3.
$$\int_{-\infty}^{\infty} e^{-\frac{1}{2a^2} \{ (z-z')^2 + (z-z'')^2 \}} (z-z') dz$$

$z-z' = \xi$

(4)

$$= e^{-\frac{(z'-z'')^2}{2a^2}} \int_{-\infty}^{\infty} e^{-\frac{z}{a^2} \xi^2} \cdot 2 \cdot \frac{(z'-z'')}{a^2} \xi \cdot \xi d\xi$$

$$= -e^{-\frac{(z'-z'')^2}{2a^2}} \cdot \frac{\frac{1}{a^2}(z'-z'')}{\frac{z}{a^2}} \cdot \sqrt{\frac{\pi}{z}} \cdot e^{-\frac{(\frac{z'-z''}{a^2})^2}{z}}$$

$$= -\frac{a(z'-z'')}{z} \sqrt{\frac{\pi}{z}} e^{-\frac{(z'-z'')^2}{2az}}$$

4.